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ALl The Right Aeswers Ave Marlced By Cucle

Deficiency of vitamin C causes —
(A)Rickets (B) Beribeni (C) Scurvy (D)Night blindness
faafim &t #1 #9979 wen T 2 -

(A frmzm (B) &= Q@ﬁ___ (D) TafTedt

Jaundice 1s a disease of -

(A)Kidney (B) Pancreas (C) Liver (D) Duodenum
e N (Jaundice) HHAI ¥7 F fFa fecg =7 =El 9 BNt 22
AT (fFe) (B F=mm @“ g (FfET) (D)yEEE

Carbon dioxide in atmospheric air amounts to about —
AgHTA § AT TE AFEEE F1 A & wfavE F -
(A)0.03% /‘ )/0.003% (C)0.3% (D)3%
Largest gland in human body 15 —
(A)Liver (B) Pancreas (C) Pituitary (D) Thyroid
uAE YR W wEE a9 ufy (wE) % -
,@ﬁ (F=7)  (B) F=ERT (C)9 99 T4 (D) ATARIEE
hich of the tollowing blood groups is universal recipient?
FH T @A @ Gad WEEA (Universal Recipient)  ?
(A)A )AB (C)B (D)O
The distance travelled by/z/x freely falling body is proportional to —
(A)The mass of the body (B) The square of acceleration due to gravity
(C) The square of time of fall (D) The time of fall.
waa ¥9 A et ot o g0 @ F1 T g fFEe smwa § 802
(A)TE T AR e % FRU @ F A
O % = & & @ﬁmmm = AN anfwe,
A man walks 8 km towards East and then 6 kin towards North. His magnitude of displacement is —
(A)10 km (B) 14 km (C)2 km (D)Zero

wF et 8 Rl qd # s qe e 6 Bl ser w1 o we 21 e faen
F1 i 2 .-

-@o e (B) 14 T, (€)2 L (D)TA




8.

9.

10

14.

If two bodies have their masses in the ratio | - 4 and their volumes are equal, then their densities
will have the ratio —

3 T F TEEA W OSAIE 1:4 % 3 I AT U R @1 39 T #
S 7 -

el e GNSW COx
,%;4 B)4:1 (©)2:1 ;.6?)/':2 AP ¢

Mhe unit of power Is ~

(A)Watt per second  (B)Joule (C)Kilo Joule /'(D ,.Wan
wifEm (Power) =1 HEA® % =
AEE 9fa dFT (ByFa (C)fFell 9@ (D)2
When water is heated from 0°C, its volume —

P
(A)Increases H(B)YDecreases till 4°C
(C)Remains the same {D)First increases then decreases
& et F:0°CH ™ fEm S @ owmE wme -
(A)aEm (B)4°C &% =5 3
(C)aE w@m (DYTEA FZM F9 F=M
Sound waves cannot pass through —
(A)A solid (B) A liquid (C)A gas @};\’acuum

S T TE R wwA -
(AVZE Wem ¥ BYFE IR R (OFg gem o8 (o)l @
If a wave of wave length A is travelling in a medium with velocity v, then its frequency is -

Amwﬁ@m\sm@wmé,mmmm:-

() (!yfrk (C)f-‘ )
. The focal length of a plane mirror is —
(A)Positive (B) Negative (C) Zero @ilnﬁmW
TEa@ T H NHE FH (focal length) # :-
(A) =T (B) BOITH (C)¥4 (D) 377
The mirror used in search lights is —
(A)Concave (B) Convex (C)Plane {D)None of these
Z § wEm 'R aen iy .-
(A) STEdE (B) 39 (C)FHma @)fsﬁ q wE T

(4)




15. In general, when the emperature of a conductor is increased, its resistance —

. ncreases {B) Decreases (C) Remains same (D) Decreases rapidly
A AR W A UF A WA % awwe 4 oatg w6 § A see e -
(AyaEa ¥ (B)=ZA 7 (C) T TEal B (DYt | We o #
16. [f two resistances are connected 1n parallel, their combined resistance will
A Increase @) Decrease
(C) Will depend on voltage applied (D)None of above

afz 7 Wiy BOEER A2 R0 F A e e wiend -

(A3t & (BiFH B
(C)3a | A s (D)5 ° FE T

17. A motor converts
{A)Mechanical energy mto electrical energy (B) Mechanical energy into sound energy

{C) Electrical energy into Mechantcal energy (D)None of these

et ® ARG F79 7 -
(ATfEE F= w faga w9 F (ByAf=F e F @Efq A o

I8, Electromagnets are used in —

{A)Electric Bell (B) Traditionai Telephones

{C) Dynamos Mcabovc -l 1S 4o ywen
forea-<a fad 3wam 2m 2 2

o =3 (B) TR ZEATRA

(C) BT oy Ed

19. The earth rotates on its axis from —
(A)West 10 East (B) East to West {CiNorth to South (D) South to North

gl st 4R W fER feen F quar 7 -
z:‘n{za @)@ § U (T § oAEm ()afem @ I

20. The core of the Earth is made up of mainly -
(A)Lead (B) Mercury (Cylron (D)Carbon

9eEt F FFEM AW (Core) WA FY [ A FA F i-
(AVEE F (B)TH 1 (CF® @-ﬂﬂa =

($)




21. Which of the following 1s not a chemical reaction -

(A)Rusting of iron (B) Converting water into steam
{C)Making curd from milk (D)Buming of coal

= ¥ 9 F8 = TaEE wfema 7@ 802

(MEE H e ; 1 W § e
(€C)Z9 B TE F T (D)FER F FeE

22, For an acidic solution, the pH value 1s —

(A)<7 {By=7 (C)y=7 (D)None of these
TF IEE uE w HuE 9E e § -

-

@ 7 by =7 ©)=7 (DyF =1 § = T
23 Isotopes of an clement differ in —
(A)Number of ¢lectrons {B) Number of protons
(C) Number of ncutrons (D)Chemical reactivity
UF T F S (AREes) fFEd e o -
| Ay = e @) W
opfy % "em § (O)TEEfE FfafEm §
l 24, Which of the following is a re-chargeable battery —
(A)Lead-Acid battery (B) Nickel-Cadmium battery
(C) Lithium-lon battery (D) All of above
f W B ¥R T AR-AR A B TFA A 27 20
(s (B)FrEm-Fzim i
() fom-stE a2 (D)FH § B
25. An amplifier performs the following function on the mcoming signal -
@Enhanccs its frequency (B) Enhances its amplitude
(C) Enhances its wavelength (D) Enhances its velocity
TF WEdF TF (Amplifier), I FE THd W T A wE Hw@ L7
(A)IEfE # TgE 2 (B) 5™ F1 FErl 2
() Fed F agm ¥ ()l #1 agm #
(6)



29.

30,

3l

33.

34.

Which of the following is not a prime number?

frafafen & 4 =0 w2 (99=9) F=0 7 2 2
@r

(A)2 (B)3
1.3 can also be expressed as -
13 #1 3 9FR 9 fom m=a F -

3 3
(A)? ‘B)?

5
. The decimal equivalent ofl—6 is —

5 . &
— frg ymes ¥ a2 -

16
(A)0.3 (B)0.31 (C)0.312
Value of V2 x V2 is -
V2x V2 WA -
(B)4 (C)1.41

(@ + b) (a - b) can be simplified as —

(a+b) (a=b) F1 TA A 1 T 7
(B)a® + b*

If x =2 and y =3, then x* + )* is equal to —

ARG x=2 FAX y=3, @ ¢+ fFas o 2 -

a® — b* (Cya* + b* + 2ab

(A)30 (B)37 (€)33
. The H.C.F. of § and 12 is -

8 3T 12 F1 WEWH WEUTE (H.CF) -

(A)2 (C)6

IfA:B=3:4andB:C=5:6,thenA:Cis—
AREA:B=3:43RB:C=5:6TA:CE -
(A)5: 9 (B)3: 4 (€)1 :2

(D)3

(D)3

(D)a" +

(D)8

h* — 2ab

12 men complete a work in 20 days. If only 8 men had been employed for the same work, how

much time would it have taken?

(A)24 days (B)25 days (C)30 days

(D)35 days

12 seHt et wm w1 20 53 § w5 §1 3f% = v o 8 el wE F A

feq =2

(A)24 fm (B)25 f&ga

&

(7)

(D)35 f&=
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36.

40

. A boy takes 20 minutes to reach the school 2t the speed of 12 km/hour. If he wants to reach

the school in 15 minutes, his speed should be -
(A)15 km/hr, (B)16 km'hr. (C)18 km/hr. (D) 19 kmvhr.

TF TEE |1ﬁ=m-ufaazraﬁmnn°ofwznn;av§‘mélw&az 15 forz
W A VN T ¥ A SHl TR E ey 2

(A115 LD \@1’6 par. €18 fFa g (D19 FEALE

25% of 3600 is —

3600 F1 25% FW - =

(A)1600 (B)600 €900 (D) 1000

Szmplc mterest for 4 years at the rate of 97 per annum on an amount of Rs. 20.000 - is
% AR W H 4 A F 20000~ F AN =S EW -

(A)Rs. 1800/ (B)Rs. 5400/- (C)Rs. 6400/- @&.f“m)

The sum of the angles of a quadrilateral is - il

qF F FOH Am 2 - -

(A)90° (B) 180° \g?fmo" (D)270°

If two cubes have volumes in the ratio 1 : 2™fen the ratio of the areas of their respective faces
will be —
uﬁQW(m)ammmrn%a\mg@(W)mm
w 3‘3“'“ .

(Al : BH") (Cy1:6 (D)1 :18

A hall has dimensionS24 m « 8 m ¥ 6 m. Find the length of the longest pole that can be
accomodated in the hall.

UF BT F OIER 24 He « & Fe « 6 W B TW murammmafmn

é%ﬂ{ (B)28 m (C)30 m ' (D)3bm
41, ¢ mean of the first 10 natural numbers 1s — w“

43.

R |0 WEHaE Tems w1 gsmE () e -

5 " 13 :
(A= % ©)— (D) 3

. The mean of ten numbers is 7. If each number is increased by 5. the new mean will be -

TH Hemsi # weAmE (3Wd) 7 ¥ Ak ve=ww Wem q s ¥ 3fz w4 9@ A
T WA Em? =

(A)7 (B)17 (C)57 17

The number of square tiles of side 20 cm required to cover a squaf® courtyard of area 64 m*
is —

64 W F AMER A F 20 WA wEAE Ao fwAA aiFER adme ww?
(A)1598 \@rﬁo (C) 1602 (D)3200

R T (8)
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A B g0 B2 AT g d dan op W B ohe B e oS we

gq‘ﬁm?gmrf&asrﬂqf#ngw#m?mef'au@:ﬁlmmmmhmvﬂn
A 1 T WA B A 21 O Hed 3 Saeel & w9 3w ghe A e asen
A of g #7013 P g S alE # R

feetl oferer faamel s - Z 140.00
wH. %, s (@) O g aRd Z 110.00
w, %, g T () T e Ak Z 75.00
(1989 & 2y &% F O T gy g4 Hied)

A 3F Zeq (7% 400)

HE FBA (AT

og. . o afE T (w6 s 5 )
et gferd arvr| SU7 @2 (20 T & i)
7 FE F@=

e = @ v+

. & 2 " w0

TH. .
b 9Ulelt I t&tot

w¥l) ward ol e aid g @ ¥

w4 g nﬁﬁnﬁmaﬁmmﬂ‘lﬂ@ﬁwa‘iwﬁndfﬁ@m‘%l

wf o faeht gfer, CPO-SI, SSC, Yo/ 3 RPSC @ &1 o LU Riftr=t mhemail & frdl 7 31
aftraTst wel @ e WAl g8 T 3/ anam an A R e ¥

qll® Chapter 3 Ue] @t @9 Types & 7 &1
{aémdsWﬁﬁma\%w%wm@dﬁ*m\vﬁlmmgwﬁmfm
e § 1A -, S, g, gelver s

7w E R R TIow SEd & a Rrendl ¥ o o 0 Tt & qaae andl @ T T ¥
fremfaa 2 eward ¥ 8 e arel vafal @ aw e st wvamm T

< e aEa qeq T 200.00 )
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EES 1b?<y0(a rhombus of side x is denoted by A. then which of the following is true?
‘/@ =x (BlA>x {CO)A < (D)None of these
xwmﬁWmamAﬁmw%.?ﬁﬁﬂﬁéwm
LH

(A)A=x (BYA > (C)AS Y (D)sFH H FE TR
45, If the HCF of two numbers is 1, then their LCM is equal to -
{A)Their product {B) Their sum (C)Zero (D)None of these
afy 2 wEmat F1 TEH FHTE (HCF) | % 1 T FTgEE GETEE (LCM) @ -
: 1 T (83T TZ (YA (DysH B FE T
46 The diameter is -
(A)the smallest chord of a circle (B) The largest chord of a circle
{C)a tangent of a circle (D)perpendicular 1o every chord of a circle
= ¢ - -
-~
(AT Ft FFEE \é&j@ﬁ F1 AfaFan
(C)TE T FIE (D)FR F TR N F A=A
47, If the sides of a triangle are 3 cm, 4 cm and 5 cm, then its area is - S {?"'—
{A}6 em? (B)7.5 cm? (C)5V2 e’ (D)3 em®
afy T w3 A, 4 AW o s AW F A @ AAES AW -
g [ (8)7.5 BHI’ (C)5v2 BHL? (D)3 BHL
48. 1% of 115 equal to - f o !
| F 1% fEEE auat m 2 S
. // : =
(A)0.1 (B)10 (i \ 01 ~
49, Ifa number is reduced by 10% and then again increased by 10%, th@ﬁam number will be - .
{A)Equal to the original number (B)Bigger than the original number - .
(C)Smaller than the original number (D)Insufficient data to comment 2 5;

ﬂﬁ@#@llommﬂﬁmiﬁﬂﬁﬂwmﬂﬁmi?ﬁm X |
wem i -

(AVTA li&ﬂliﬁmt (B)§® Hem | 3%

@ﬁ/mﬁﬁﬁ (pyFaEE % faw gof aer @

( 22
50. The perimeter of a circular field with 7m radius will be lmke R= -_}—) -

L ?

7mwmmmwmaauﬁmm(mkm3§)_ :

(A)22 m* @4’4’ ™ (€)33 m* (D)2 m?

(9)



